=
<

o(0 @) (rad)

i
<
N

o of o - L
5 F. 5 T e | L
o 95 ™7 -U % |T '?51:‘”*‘4.‘:_' “ """"""
085 . . 0.95C - | '2 .
10~ 10 0 -1 10~ -1
TP, (PCA t% beamliné TP o8 (PCAt1 beamliné
—MKET origmal
_mkFit_TToriginal-106
_mkFit_ TTNEWHSMS95_ALLITERS-106
mkFit_ TTNEWHSMS90_ALLITERS-106
=~ 1 —~
= E 1]
2 E e
> [ o
o B =2
510 E

1072

a(d cot(d))
5

1072

1073

H
i

............

0L p/p,)

mﬁ#ﬂy L

e
".. Ty

e
——

TP p (PCA t%) beamllne)O

107}

1072

== |
:j-_i [
—— [
;.-_._“ r.‘i‘h'......é}

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


